MAT1372, Classwork®6, Fall2025
3.1 Defining Probability
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2. A “die”, the singular of dice, is a cube with six faces numbered 1, 2, 3, 4, 5, and 6. What is the chance of
getting 1 when rolling a die?
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proportion tends to get closer to the probability 1/6 &~ 0.167 as the number of rolls
4. DISJOINT: increases.
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5. (a) What is the probability of rolling a 1, or 3? (b) What is the probability of rolling a 1, 2, 3, 4, 5, or 67
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6. ADDITION RULE OF DISJOINT OUTCOMES:
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7. We are interested in the probability of rolling a 1, 4, or 5. (a) Explain why the outcomes 1, 4, and 5 are
disjoint. (b) Apply the Addition Rule for disjoint outcomes to determine P (1 or 4 or 5).
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8. EVENT:
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9. (a) Are events B and D disjoint? (b) Are events A and D disjoint?
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10. If you have a regular deck of 52 cards. (a) What is the )
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11. Let A represent the event that a randomly selected card is a diamond and B represent the event that it is a
face card. How do we compute P(A or B)? enn gliagran
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14. Independence of Random’Processes
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15. Consider rolling two dice where one is red and the other is white. What is the probability of the sum of
rolling which is 2?
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